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Q.

less than and greater them R 7
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PHY102 : Quiz 1

1. A spherical charge distribution has a density p that is constant from r = 0 out
to r = R and is zero beyond. What is the electric field for all values of r, both

less than and greater than R 7 [2.5]
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0°C and [l = 5¢m 7

numerical answer 1
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2. Designate the corners of a square, [ on a side, In clockwise order, A, B,C,D.
Put charges 2¢ at A and —3q at B. Determine the value of the line integral
of E, from point C to point D. (No actual integration needed!) What is the
numerical answer if ¢ = 107°C and | = 5cm 7 [2.5]
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PHY102 : Quiz 1

less than and gr
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9. Desigfiate the chrners of a square, | on & side, IN clockwise order, A,

Pyt charges 2q ab\A and —3q at B /Determine t value of the/line mtegr
‘What is the

2]

o actual integration needed!

E, from point o point D.
numerlcal answer if ¢ 1077
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